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QUESTION 1

VPRN 300 is configured on Node 4. BGP is being used as the PE-CE routing protocol. Node 2 is the CE router. The
BGP session is not established between Node 4 and Node 2. What is missing in the configuration?

Mode 4
10.10.1.1

Mode 3
10.10.1.3

—— e
| WL TRR i i
E 0 il (s 11} FRgILLe
¥z ) VTR0 gl «——> gy VPEN 300
= 30.1.1.1/24 Al ME-EGP i 30.1.2.1/24
192.168.1.1
Node 2
# configrrouterzhgp
group "wrf™
local-as 400
neighbor 30.1.2.1
peser—-as 100
# show router bgp neighkor 30.1.2.1
EGP Neighbor
Peer 30.1.2.1
Group wrf
FPeer A3 Ha ] Peer Fort = 0
Feer Lddress S 1 Rh e A
Local A4S HEE. {ulu] Local Fort = 0
Local Address s DebeBah
Peer Type : External
Itate o Aotive Last 3tate : Connect
Last Ewvent : openFail
Last Error i Cease
Local Feamily : IPv4
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RPemote Family : Mnused

Hold Time s 30 Keep Alive : 30
Aetive Hold Time = J Aetive Keep Aliwve HE ]
Cluster Id : None

Preference i T | Nuwm of Flaps HE ]
Recd. Paths |

Node 4

# configrservicesvprn 330
route—distinguisher Z00:200
auto-kbind lip
vrf-target target:100: 100
interface "CoCPE4" create

address 30.1.2.1/24
sap 1/1/3 create
exitc
exit
static-roucs 40.1.1.1/3% next-hop 30.1.2.2
bgp
group Mwrif'"
Typs external
local-as 100
neigyhbnr 30.1 .22
pesr—-as 400
exic
exit
exit
no shutdown
# show router 300 bgp n=ighbor 30.1.2.2

Peer 30.L.2.2 Group wrt

Peer L3 3 Q8 Peer Fort i
Peer Address R T [

Local A5 100 Local Fort 3

A. Type external has to be configured on Node 2 under group vrf

B. Autonomous-system has to be configured on Node 4 under vprn 300
C. Router-id has to be configured on Node 4 under vprn 300

D. Router-id has to be added under BGP on Node 2

E. EBGP will not work under VPRN

Correct Answer: B

QUESTION 2
A spoke-sdp terminated IES configured on Node 3 is down due on SDP serviceMTUMismatch error. The same error is

found on the corresponding SDP on Node 4. The VPLS is using the default service MTU. Which MTU value should be
modified to bring the SDP up on both Nodes?
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HMode 4 Meode 3
1[].1[].1.“1 ES 200 1[]__10_1.3

19216812 (S
|i|l:i|liu
SDP 43 spp 34 AR

T
1 LR
= 1155

Pl I :
192.168.1.1

A. IP MTU of the IES Interface on Node3
B. Port MTU on Node 3 and Node 4

C. SDP Path MTU on Node 3 and Node 4
D. Service MTU on Node 4

E. Path MTU on Node 3 and Node 4

Correct Answer: A

QUESTION 3

Based on the following CLI Output, why is the path toPod3-loose down?

A. Path toPod3-loose is down because it is secondary path with no standby configured
B. Path toPod3-loose is down because there is no explicit hop specified

C. Path toPod3-loose is down because CSPF is not enabled

D. Path toPod3-loose is down because the destination address 0.10.1.3 is not reachable
E. Path toPod3-loose is not down because the failure code is oError

Correct Answer: A

QUESTION 4

Based on the configuration below, which statement best describes the reason why VPLS 101 is not up on all three
nodes.
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Mode 2
10.10.1.2

jﬁ@ﬁ‘i
7 LE L]
Mode 1 ///////I

10.10.1.1

Mode 3
10.10.1.3

Node-1

configrservice:>
wpls 101
atp
shutdown
exit
sap 1/1/5 create
exit
spoke-sdp 30:30 create
exit
no shutdown
sdp 30
far-end 10.10.1.2
1dp
keep-alive
shutdown
el
no shutdown

Node-2

configrservices
vpls 101
atp
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shutdown

exit

spoke-adp 40:40 create

exNit

spoke-sdp 50:50 create

Eexit

no shutdown

scdp 40

far-end 10.10.1.1

ldp

keep-alive
shutdown

{=b i

no shucdown

sdp S0

far-end 10.10.1.3

ldp

keep-alive
shutdown

exit

no shutdown

Node-3

config>service>
wpls 101
stp
shutdown
exit
sap 1/1/5 create
exi
spoke-sdp 60:60 create
exit
no shutdown
sdp &0
far-end 10.10.1.2
1dp
keep-alive
shutdown
exit
no shutdown

A. Service VC id has to match on all three nodes
B. SDP id has to match on all three nodes

C. STP has to be enabled on all three nodes

D. No SAP is configured on Node-2

E. Mesh-sdp has to be used on all three nodes

Correct Answer: A

QUESTION 5

Refer to the diagram below, what encapsulation type and VLAN tag are required at point X for the PC to ping the IES
interface?

4A0-110 PDF Dumps | 4A0-110 VCE Dumps | 4A0-110 Practice Test 6/7


https://www.passapply.com/4a0-110.html
https://www.passapply.com/4a0-110.html
https://www.passapply.com/4a0-110.html

VCE & PDF https://www.passapply.com/4a0-110.html
2024 Latest passapply 4A0-110 PDF and VCE dumps Download
PassApply.com

dotlg null dotlq
- sap 1150 | ———— X sap /11|~ | sap L7146
- VPLS YPLS IES
ﬁm ~— o QinQ| | 19216212
. sap 1717460
PC1
1921681.1

A. qging sap 1/1/1:6.0

B. qing sap 1/1/1:6.*

C. dotlq sap 1/1/1:6

D. null sap 1/1/1

E. There is no way to make ping works in this case

Correct Answer: D

4A0-110 PDF Dumps 4A0-110 VCE Dumps 4A0-110 Practice Test

4A0-110 PDF Dumps | 4A0-110 VCE Dumps | 4A0-110 Practice Test 717


https://www.passapply.com/4a0-110.html
https://www.passapply.com/4a0-110.html
https://www.passapply.com/4a0-110.html
http://www.tcpdf.org
https://www.passapply.com/4a0-110.html
https://www.passapply.com/4a0-110.html
https://www.passapply.com/4a0-110.html

